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1 a. Explain with example, ¢
(i) Strings (i) Languages
Discuss standard operations on'anguages with example. ¢
Construct DFSM for the follcwmg languages : .

(i) L={oe {a,b} | ® contams no more than one b}

(i) L={oe{a,b}* o contams Even number of a’s .@nd odd number of b's}
Give the trans1t10n Tablé %nd show that aabaa is accepted (10 Marks)

(iii) Function on strmg (06 Marks)
(04 Marks)

50, will be treated as malpractice.
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(10 Marks)
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3 a. Define Ragular expre551on Write.RE for the following :
(1) [fanguage of all strings of 0°s and 1’s that have odd number of 1°s.
(i)  Language of all. strings of 0’s and 1’s that has at least one pa1r of consecutive 0’s.
(iii)  The Language of all strings of 0’s and 1°s that have no pair’s of consecutive 0’s.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

(10 Marks)
b. Prove with an example that the class of language can be defined with regular Grammar is
exactly the reg far language (10 Marks)
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17CS54
OR
Using Kleen’s theorem, prove that any language that can.be defined with a Regular

expression can be accepted by some FSM. (10 Marks)
State and prove pumping lemma for regular languag wand show that the language
L= {a | P is a prime number | is not regular. (10 Marks)

Module-3/\

(i) .
(i) L ={oe {a,b}*| ocontains substring"ab]
along with parse tree. %
Explain deterministic PDA and con
the string abbaab and aababb. 4,

L= {a“b“‘ambn |m.n>0andn 3

(10 Marks)
ct DPDA for language given and give the trace for

(10 Marks)

: & %, (10 Marks)
Non deterministic PDA.and ‘construct an NPDA. for the language.
“loefby} L ’
' (10 Marks)
(10 Marks)
—{ h'c |n2 1}. Draw the
(10 Marks)

Explai %With a neat diagramythe working of TM and design a TM to accept all set of
palldrom over {0,1}*. Aﬁ% how the transitio diagram and instantaneous description on
(14 Marks)
iscuss the relat10nsh1p between the determmlstlc context free language and the languages
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‘that are not mherentl}? ambigus. W (06 Marks)

With a neat; dlagram explain v of Turing Machines. (10 Marks)

Explain with example, «

(i) Decidability (11) Demdable languages  (iii) Undecidable language. (10 Marks)
OR

Discuss Halting p(oblém and post correspondence problem with respect to TM. (10 Marks)
Define non-deterministic TM and prove that there in a deterministic TM ‘M’ such that,
(10 Marks)
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